WCET overestimation ratio (WCET/SIM)

perfect predictor + L1 cache + shared L2 cache —3

2 level predictor + L1 cache + shared L2 cache mm—

perfect predictor + L1 cache + vertically partitioned L2 cache Exxx=zx

2 level predictor + L1 cache + vertically partitioned L2 cache KXxXX
perfect predictor + L1 cache + horizontally partitioned L2 cache ———
2 level predictor + L1 cache + horizontally partitioned L2 cache E=<X

WCET overestimation w.r.t speculation in various L2 cache setting

PR T T T T T

’ * ’: ,,,,,,,,,,,,,,,,,,
KK 9 % K1 YENEEE SSYENEEE SUENEEE S <ENE
Ky % % & %
KX K K % K}
D1 K K X K
” % % 2 4 S, )
) 7 % S S, d
“, ‘ ke s %, %
% 7, % )

Benchmarks



